
Installa�on instruc�on



x 8 x 12 x 20

Step-1

Adjustor

Skir�ng



x 30 x 22

Step-2

Top board

Side board

Bo�om board



x 24x 8 x 24 x 1x 1 x 2

Step-3

Top board

Side board

Bo�om board

M4*16

M4*16



x 8x 4

Step-4

Drawer

M6*35

M6*35 M6*25

M6*25


	安装说明1
	安装说明2 Model (1)
	安装说明2 Model (2)
	安装说明2 Model (3)
	安装说明2 Model (4)

